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GMDN306P

SOT-23 3530 JE i 845 (SOT-23 Field Effect Transistors)

G 5
P-Channel Enhancement-Mode MOS FETSs
P {SSHIERE] MOS S35 4f
EMAXIMUM RATINGS X8 (@
Characteristic Symbol Max Unit
FrE=nr bk B Hit
Drain-Source Voltage
3%@?@@%’3’* BVbss -12 A%
Gate- Source Voltage
= Vs +8 \Y%

- TR
Drain Current (continuous)

e I -2.6 A
YRy P - i ’
Drain Current (pulsed) Ton 10 A

b -

Total Device Dissipation
?ﬁi%ﬁ‘ﬁrfjj} Pp 450 mW
TA=25C %Liﬁjﬁ@ EG 25°C

Junction 5k T, 150 T

Storage Temperature 7 ¥ JE % Tog -55to+150 C

EDEVICE MARKING "

GMDN306P=306P
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BELECTRICAL CHARACTERISTICS W‘E
(Ta=25°C unless otherwise noted Y[ 47k » 1A 15 257C)
Characteristic Symbol Min Typ Max Unit
R W RO R R e
Drain-Source Breakdown Voltage
-12 _ _
Vb - VB 2 FEFIE (T = -250uA,VGs=0V) BVpss v
Gate Threshold Voltage
-0.4 — -1.5 \%
P F] HYIp =-250uA,VGs= VDS) Vas(ty 0
Zero Gate Voltage Drain Current
= E“%ﬂﬂﬁﬂ; L (VGgs=0V, Vps= -12V) IDss — — -1 uA
(Vgs=0V, VDs -12V, TA=557C) -10
Gate Body Leakage
s I — — +100 nA
FHIR R (Vs =18V, VDs=0V) GSS *
Static Drain-Source On-State Resistance R o o 40 0
i SRR Y (= -2.6A.Vas=-4.5V) |
Static Drain-Source On-State Resistance R o o 50 Q
AT A (b= -2.3A,Vas=-2.5V) | XY "
Static Drain-Source On-State Resistance R o o 20 O
AT A (o= -1.8A,Vas=-18V) | %Y "
Input Capacitance ﬁ? E;
— 11 — F
(VGs=0V, Vps= -6V f [ MHz) Ciss 38 p
Output Capacitance ﬁ?l il Coss o 454 o F
(VGs=0V, Vps= -6V, £ it 2) p
Turn-ON Time t’[E\ﬂj Ei
t — 11 —
(Vps=-6V, Ip=-1A, RGEN=6Q) (on) ns
Turn-OFF Time < i ]
t — 38 —
(Vps=-6V, Ip=-1A, RGEN=6Q2) (off) ns

Pulse Width<300 (¢ s; Duty Cycle<2.0%
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mDIMENSION 135t <+
H1 (UNIT): mm

< >

A
Y

T
3

LT
2.90%0.10
1.30£0.10
1.00£0.10
0.40£0.10
2.40%0.20
1
0
0

.90%0.10
.9561+0.05
.13+0.05
0.00-0.10
=0.2
0.60=%0.10
T+£2°

D
D|Z |2 R|= |z |o|lm|log|la|w|»




